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General Instructions to Candidates :

l There is a 'Cool off time' of 15 minutes in addition to the writing time.

l Use the 'Cool off time' to get familiar with questions and to plan your

answers.

l Read the instructions carefully.

l Read the questions carefully before answering.

l Calculations, figures and graphs should be shown in the answer sheet itself.

l Malayalam version of the questions is also provided.

l Give equations wherever necessary.

l Electronic devices except nonprogrammable calculators are not allowed in

the Examination Hall.

v]h|L¡À]W¥¨Ott RkLfO j]¡SÇw°¥:

l j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU.

l "WP¥ KLlV RRaU' S\Lh|°¥ kq]\pRÕaLjOU D¾q°¥ ByPNfeU
R\áLjOU DkSpLY]¨OW.

l j]¡SÇw°¥ oOuOvjOU èÈLkP¡vÿU vLp]¨eU.

l D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkP¡‹U vLp]¨eU.

l We¨V  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾qSkÕr]¤ fRÐ
DºLp]q]¨eU.

l S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

l Bvw|oOç òs¾V yovLW|°¥ RWLaO¨eU.

l SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO
CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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Answer all questions from

question numbers 1 to 5. Each

carry one score.

1. The following are the

components of secondary sector

except ...............

a) manufacturing

b) construction

c) trade

d) electricity, gas and water

supply

2. The advantages of a particular

mode of data collection is given

below. Identify the mode of data

collection.

l Highest response rate

l Better for using open ended

questions

l Allows clarification of

ambiguous questions

l Allows the use of all type of

questions

a) Personal interview

b) Telephonic interview

c) Mail the questionnaire

d) None of these

1 oOf¤ 5 RqpOtt IsæL S\Lh|°¥¨OU

D¾qRouOfOW. KLSqLÐ]jOU 1 yVSWL¡

v}fU.

1. fLRu krpOÐvp]¤ h~]f}p

SoXsp]¤ D¥RÕaL¾fV:

a) DsVkLhjU

b) j]¡oLeU

c) vLe]^|U

d) RRvh|Of], Y|LyV, ^s v]fqeU

2. KqO NkSf|W v]vqSwXqe q}f]pORa

SoÓW¥ fLRu j¤W]p]q]¨OÐO.

v]vq SwXqe q}f] f]q]\ÿr]pOW.

l Dp¡Ð Nkf]Wqe j]q¨V

l KLÕ¦ I¢ccV S\Lh|°¥

DkSpLY]¨L¢ yLi]¨OÐO.

l S\Lh|°t]Rs Av|©f

v|©oL¨L¢ yLi]¨OÐO.

l IsæL v]i¾]sOtt S\Lh|°tOU

DkSpLY]¨L¢ Wu]pOÐO.

a) v|©]Yf An]oOXU

b) Ras]SlL¦ An]oOXU

c) fkL¤vu]pOtt S\Lh|Lvs]

d) CvRpLÐOosæ

(4)

(5 × 1 = 5) (5 × 1 = 5)
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3. The following factors responsible

for land degradation except ....

a) shifting cultivation

b) improper crop rotation

c) afforestation

d) indiscriminate use of

agrochemicals

4. The mid point of '10–15' is .........

a) 7.5

b) 10

c) 12.5

d) 2.5

5. Golden Revolution relates

to .....................

a) Horticulture

b) Sericulture

c) Pisciculture

d) None of these

3. fLRuÕrpOÐvp]¤ KRÐLu]RW

oRãsæLU o¹]R£ Ak\p¾]jV

WLqeoLeV.

a) oLã WQx]q}f]

b) D\]fosæL¾ v]t kq|pU

c) vjv¤¨qeU

d) v]Sv\j qz]foLp qLyvt

W}ajLw]j] NkSpLYU

4. '10–15' IÐ WæLô]R£ oi|m]ÎO

(o]cV SkLp]£V)

a) 7.5

b) 10

c) 12.5

d) 2.5

5. "yOv¡e v]kævU' mÌRÕŸ]q]

¨OÐfV:

a) kuUk\ÿ¨r] WQx]

(SzL¡Ÿ]W¥\ÿ¡)

b) kŸOjP¤ WQx] (Ryr]W¥\ÿ¡)

c) oÃ|WQx] (k]y]W¥\ÿ¡)

d) CvRpLÐOosæ
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6. Match the columns 'B' and 'C' with column 'A'.

6. A SWLtR¾ B, C IÐ} SWLt°tOoLp] S\qOUka] S\¡¨OW.

A B C

a) zq]fv]kævU Nm]WVyV Aa]òLj v¡xU

b) yP\WLËU fkL¤ vu]pOtt S\Lh|Lvs] \fO¡ÀLËU

c) yL¡WV Af|O¤kLhjSwx]pOtt v]¾OW¥ Ras]SlL¦ C£¡v|P

d) v|©]Yf An]oOXU oLi| v]\sjU qLyvt NkSpLYU

e) SsLr¢yV vNWU j]sv]Rs v¡xU By]pL¢

(5 × 1 = 5)

(2)

A B C

a) Green Revolution BRICS Base Year

b) Index Number Mail the Questionnaire Quartile Deviation

c) SAARC HYV Seeds Telephonic Interview

d) Personal Interview Mean Deviation  Use of Fertilizers

e) Lorenz Curve Current Year ASEAN

(5 × 1 = 5)
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Answer all questions from

question numbers 7 to 11. Each

carries two scores.

7. Categorize the following

programmes under the heads of

wage employment and self-

employment programmes.

a) REGP

b) NFWP

c) PMRY

d) MGNREGS

8. Workers can be classified in

many ways. One type of

classification is casual wage

worker and regular salaried

worker. Cite two examples of

them.

9. Human capital and human

development are interrelated.

Point out any two relationships

between them.

7oOf¤ 11 vRqpOtt IsæL S\Lh|°tOU

D¾qRouOfOW. KLSqLÐ]jOU 2 yVSWL¡

v}fU.

7. fLRu fÐ]q]¨OÐ kq]kLa]WRt

WPs]R¾Lu]¤ kq]kLa] y~pU

RfLu]¤ kq]kLa] IÐ}

fsR¨ŸOW¥¨O fLRu

v¡Y}Wq]¨OW.

a) B¡.C.^].k]

b) I¢.IlV.cmæ|P.k]

c) k].IU.B¡.RRv

d) IU.^].I¢.B¡.C.^].IyV

8. RfLu]sLt]WRt ks v]i¾]¤ fqU

f]q]¨LvOÐfLeV. A¾q¾]¤ Dtt

KqOfqU f]q]¨sLeV fL¤WLs]W

RfLu]sLt]W¥, ò]qSvfj

RfLu]sLt]W¥ IÐfV. KLSqL

v]nLY¾]sOU D¥RÕaOÐv¡¨V 2

v}fU DhLzqe°¥

\Pº]WLe]¨OW.

9. oLjv oPsijvOU oLjv v]Wyj

vOU kqyVkq mÌoOttvpLeV. Cv

fÚ]sOtt qºV mÌ°¥ WRº¾]

IuOfOW.

(5 × 2 = 10)(5 × 2 = 10)
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10. WæLôOWRt C¢WæPy}vV q}f]

DkSpLY]\ÿOU IWVyVWæPy}vV q}f]

DkSpLY]\ÿOU joO¨V

NWo}Wq]¨LvOÐfLeV. CT q}f]WRt

fÚ]¤ Sv¡f]q]\ÿr]pOÐf]¤

yzLp]¨OÐ qºV yv]SwxfW¥

IuOfOW.

11. fLRu fÐ]q]¨OÐ v]vq°¥

DkSpLY]\ÿV oLi|W¾]¤ j]ÐOtt

oLi| v]\sjU (o}¢ c}v]Spx¢

NlU o}c]p¢) WRº¾OW.

oPs|°¥ : 3,  5,  8,  2,  4

12  oOf¤ 18  vRqpOtt S\Lh|°t]¤

JRfË]sOU 6 I¹¾]jV D¾qRouOfOW.

KLSqLÐ]jOU 3 yVSWL¡ v}fU.

12. ò]f]v]vq wLyVNfU yLÒ¾]W

wLyVNf³Rj ks v]i¾]¤

yzLp]¨OÐOºV. CT NkyVfLvj

¨Ott 3 DhLzqe°¥ IuOfOW.

10. Classes can be arranged

in inclusive and exclusive

manner. Point out any two

features which help us to

distinguish them.

11. Calculate the Mean Deviation

from Median for the following

observations.

Values : 3,  5,  8,  2,  4

Answer any six questions from

question numbers 12 to 18. Each

carries three scores.

12. Statistics helps the economics in

various ways. Cite three

instances for it.

(6 × 3 = 18)
(6 × 3 = 18)
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13. RWLStLe]p¤ nqeWLs¾V

CÍ|pORa BÍq]W Zaj

Ro\ÿRÕaO¾OÐf]jV Nm]Ÿ}xV

Yv¦Ro£V j]qvi] jaka]W¥

y~}Wq]\ÿO. CfV Nm]Ÿ}xV nqe¾]R£

jsæ yUnLvjpLp] kq]Ye]¨LSoL?

yLiPWq]¨OW.

14. qºLU kµvÃq kÈf]pORa

Aa]¾r qPkRÕaO¾]pfV 1956 Rs

v|vyLp jp NkSopoLp]qOÐO. CT

jpU CÍ|¢ v|vyLp v]Wyj

\q]Nf¾]Rs jLu]WWsæLeV. 1956 Rs

v|vyLp jp NkSop¾]R£ NkiLj

yv]SwxfW¥ \Pº]¨Le]¨OW.

13. In the field of infrastructure, the

British Government took many

initiatives during the colonial

period. Do you consider that,

these are the positive

contributions of the British?

Substantiate.

14. The Industrial Policy Resolution

of 1956 formed the basis of

Second Five Year Plan. It was a

milestone in the history of

Indian industrial development.

Point out the important features

of the policy.
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15. CÍ|pOU RR\jpOU kLW]òLjOU JWShwU KSq WLs¾LeV v]Wyj fNÍ°¥

Bv]xVWq]\ÿfV. CT qL^|°t]Rs oLjv v]WyjR¾ WLe]¨OÐ kŸ]W j]q}ƒ]\ÿV 3

j]Yoj°¥ qPkRÕaO¾OW.

2012–13 Rs \]s RfqR´aO¾ oLjv v]Wyj yP\W°¥.

                   CjU CÍ| RR\j kL¨]òL¢

1) oLjv v]Wyj yP\]W (oPs|U) 0.586 0.719 0.537

2) oLjv v]Wyj yP\]W (rLËV) 135 91 146

3) Nkf}ƒ]f BpO¡ RRh¡Z|U 66.2 75.2 66.4

4) oOf]¡Ðvq]Rs yLƒqfL j]q¨V 62.8 95.1 54.7

5) ^].c].k]. Nkf]w}¡xU (k].k].k]. pOIyV $) 5238 11524 4549

6) Infant Mortality Rate 41 11 69

15. India, China and Pakistan had started their development strategies almost

at the same time. Observe the following table and draw three inferences

regarding the state of Human Development of these countries.

Some selected indicators of Human Development 2012–13

                            Item India China Pakistan

1) Human Development Index (Value) 0.586 0.719 0.537

2) Human Development Index (Rank) 135 91 146

3) Life Expectancy at Birth 66.2 75.2 66.4

4) Adult Literacy Rate 62.8 95.1 54.7

5) GDP Per Capita (PPP US$) 5238 11524 4549

6) Infant Mortality Rate 41 11 69

(3)
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16. yoLÍq oLi|¾]jV qyWqoLp KqO

yv]SwxfpOºV. (C£rð]‚V

SNkLk¡Ÿ]) CfV WRº¾] KqO

DhLzqe¾]R£ yzLpS¾LRa

Rft]p]¨OW.

17. yLÒ¾]WwLyVNfvOU ò]f]v]vq

wLyVNfvOU kqyVkqU AaO¾V

mÌRÕŸV W]a¨OÐO. ò]f] v]vq

wLyVNf¾]R£ \]s DkLi]WtOU

(aP¥yV) AvpORa DkSpLYvOU

fLRu j¤WOÐO. CvRp fÚ]¤

wq]pLp] SpL^]Õ]¨OW.

16. Arithmetic Mean has an

interesting property. Identify

and prove it with an example.

17. Statistics and Economics are

closely related. Some statistical

tools and their uses are given

below. Match them correctly.

                      Tools                     Uses

                   DkLi]W¥                  DkSpLYU

a) Median, Correlation, Standard Organization and Presentation

Deviation of Data

oLi|WU,yzmÌU, oLi|W h¾°tORa v|f|LyvOU

v]\sjU AvfqevOU

b) Tables, Pie Diagrams, Arithmetic Bibliography

Line Graph

kŸ]W, vQ¾LSqXU, Ye]fkqoLp NYjVgyP\]

SqXLNYLlV

c) Magazines, Research Reports, Analysis and Interpretation

Newspaper of Data

oLYy}jOW¥, YSvxe r]SÕL¡ŸOW¥, h¾°tORa v]wWsjvOU

h]jkNf°¥ v|LX|LjvOU
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18. kq]ò]f]pOU yOò]q v]WyjvOU

kqyVkqU mÌRÕŸ]q]¨OÐO.

kq]ò]f]pORa 6 i¡Ú°¥ s]ðV

R\áOW.

19  oOf¤ 23  vRqpOtt S\Lh|°t]¤

JRfË]sOU 4 I¹¾]jV D¾qRouOfOW.

KLSqLÐ]jOU 4 yVSWL¡ v}fU.

19. KqO kq}ƒp]¤ kRËaO¾ 25

SkqORa DpqU yUmÌ]\ÿ

v]vq°¥ fLRu RWLaO¨OÐO. CT

S^Ls]¨OSvº] j]ép]\ÿ DpqU 170

Ry£] o}ãrLeV. fLRu fÐ]q]¨OÐ

h¾°¥ DkSpLY]\ÿV KqO BvQ¾]

v]fqe kŸ]W fáLrL¨OW. WæLôV

C£¡Rv¤ 5 vq¾¨v]iU

IWVyVWæPy}vV q}f]pLeV DkSpLY]

S¨ºfV. f]qR´aO¨RÕŸvqORa

I¹U WºOk]a]¨OW.

18. Environment and sustainable

development are inter-

connected. List out any six

functions of environment.

Answer any four questions from

question numbers 19 to 23. Each

carries four scores.

19. Details given below shows the

height of 25 participants in a

selection test. The minimum

required height for the post is

170 cms. Prepare a frequency

distribution table by exclusive

method by taking class interval

of 5. Find out the number of

participants selected.

160, 164, 170, 179, 165, 168, 162,

165, 173, 177, 175, 164, 172, 178,

166, 174, 168, 179, 176, 172, 178,

173, 171, 172, 178

(4 × 4 = 16)(4 × 4 = 16)
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20. Calculate the price index

number.

20. v]s yP\WLËU WRº¾OW.

21. "If the misery of the poor be

caused not by the laws of nature,

but by our institutions, great is

our sin". – Charles Darwin.

In the light of this quotation, list

out and analyze the causes of

poverty in India.

22. The development of health

infrastructure ensure a country

of healthy manpower. Whether

the present status of Indian

infrastructure is sufficient to

keep the people healthy?

Analyze.

Price of the commodities in 2016 – 2017

9 12 10 14
2016 – 2017 ¤ DsVkÐ°tORa v]s

Price of the commodities in 2011 – 2012

6 8 7 10
2011 – 2012 ¤ DsVkÐ°tORa v]s

21. ""kŸ]e]ÕLv°tORa hOq]f¾]jV

WLqeU NkWQf] j]po°tRsæË]¤

AfV jÚORa v|vò]f]pORa

yQxVa]pLeV. CfV jÚORa vs]p

kLkoLeV''. –\L¥yV cL¡v]¢.

CT DÈqe]pORa kéL¾s¾]¤

CÍ|p]Rs hLq]Nh|¾]R£ WLqe°¥

kŸ]WRÕaO¾] v]wWsjU R\áOW.

22. KqO qL^|¾V BSqLY|oOtt ^jfRp

DrÕOvqO¾L¢ BSqLY| BÍq]W

Zaj (Rz¤fV C¢NlLyVNaWV\¡)

v]Wy]S¨ºfOºV. CÍ|p]¤

j]sv]sOtt BSqLY| BÍq]W

Zaj BSqLY|oOtt KqO ^jfRp

vL¡R¾aO¨L¢ kq|LkVfoLSeL?

v]wWsjU R\áOW.
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23. KqO kq}ƒp]¤ 40 v]h|L¡À]W¥

Sja]p yVSWL¡ fLRu

j¤W]p]q]¨OÐO. wqLwq] yVSWL¡

WºOk]a]¨OW.

yVSWL¡ v]h|L¡À]WtORa I¹U

0 – 10 4

10 – 20 8

20 – 30 10

30 – 40 8

40 – 50 6

50 – 60 4

24  oOf¤ 26  vRqpOtt S\Lh|°t]¤

JRfË]sOU 2 I¹¾]jV D¾qRouOfOW.

KLSqLÐ]jOU 5 yVSWL¡ v}fU.

24. CÍ|RpSÕLRs RfLu]sLt]W¥

WPaOfsOtt qL^|°Rt yUmÌ]\ÿV

oLjv oPsij¾]jV WPaOf¤

NkLiLj|oOºV. oLjv oPsij

qPk}WqeU yLi|oL¨OÐf]jV

Svº] Yv¦Ro£V \]s SoXsWt]¤

yv]Swx èÈ j¤SWºfOºV.

– CT SoXsW¥ WRº¾OW.

– oLjv oPsijvOU yLÒ¾]W

vt¡\ÿpOU fÚ]sOtt mÌU

v]wWsjU R\áOW.

23. Scores of 40 students in an

examination is given below.

Calculate the Mean.

Score No. of students

0 – 10 4

10 – 20 8

20 – 30 10

30 – 40 8

40 – 50 6

50 – 60 4

Answer any two questions from

question numbers 24 to 26. Each

carries five scores.

24. The concept of human capital is

relatively more important in

labour surplus economies like

India. To make human capital

formation possible the

Government has to address

some areas.

Identify these areas. Analyze the

relationship between human

capital formation and economic

growth.

(2 × 5 = 10)(2 × 5 = 10)
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25. Now-a-days people discuss more

about organic farming. Why?

Discuss the following :

a) Advantages of organic

farming.

b) Organic farming and

sustainable development.

26. Calculate Karl Pearson's

coefficient of correlation.

25. yo}kWLs¾V ^j°¥ RR^v

WQx]Rp¨Or]\ÿ V  WPaOfsLp]

\¡\ÿR\áOÐO. IÍORWLºV?

fLRuÕrpOÐv \¡\ÿR\áOW.

a) RR^v WQx]pORa SjŸ°¥.

b) RR^vWQx]pOU yOò]q

v]WyjvOU.

26. WL¥ k]Sp¡y¦ q}f]pjOyq]\ÿ V

yzmÌ YOeLËU WLeOW.

X 2 4 6 8 10

Y 3 7 10 6 4
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Answer any two questions from

question numbers 27 to 29. Each

carries eight scores.

27. Antoine Augustin Cournot in

1843, was the first who used the

term Median for the value that

divides a probability

distribution into two equal

halves. Median can be located

graphically with the help of

Ogives. Draw Ogives and locate

the median by using the

following table.

Scores No. of students

0 – 5 5

5 – 10 10

10 – 15 20

15 – 20 30

20 – 25 20

25 – 30 9

30 – 35 5

35 – 40 3

28. We learnt that, India

implemented New Economic

Policy in 1991. It affected all

sectors of our Economy. On this

basis :

27  oOf¤ 29  vRqpOtt S\Lh|°t]¤

JRfË]sOU 2 I¹U  D¾qU IuOfOW.

KLSqL S\Lh|U 8 oL¡ V̈ v}fU.

27. B£p]¢ AYð]¢ W¡SjLŸV BeV

Bh|oLp] (1843) oLi|WU (o}c]p¢)

IÐ khU DkSpLY]\ÿfV. CfV KqO

yUnLv|fL v]fqeR¾ qºV fOs|

nLY°tLp] v]n^]\ÿ]q]¨OÐO.

K^}vOWtORa yzLpS¾LRa

NYLl]¤ j]ÐO oLi|WU WRº¾L¢

Wu]pOU. fLRu fÐ]q]¨OÐ

kŸ]Wp]¤ j]ÐV K^}vV vq\ÿV oLi|WU

WRº¾OW.

yVSWL¡ v]h|L¡À]WtORa I¹U

0 – 5 5

5 – 10 10

10 – 15 20

15 – 20 30

20 – 25 20

25 – 30 9

30 – 35 5

35 – 40 3

28. 1991¤ CÍ| yLÒ¾]W

kq]xVWqeU jaÕ]sL¨] IÐV jLU

ojô]sL¨]p]ŸOºSsæL. CT

kq]xVWqe jaka]W¥ IsæL

SoXsWRtpOU mLi]\ÿO. Cf]R£

Aa]òLj¾]¤ :

(2 × 8 = 16)(2 × 8 = 16)
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a) WL¡x]W, v|LvyLp]W,

ijWLq| SoXsWt]¤ jaÕ]sL

¨]p kq]xVWLq jaka]W¥

v]wWsjU R\áOW.

b) WL¡x]W, v|LvyLp]W,

ijWLq| SoXsWt]¤

kq]xVWqeU DtvL¨]p

ls°Rt v]o¡wjLÄWoLp]

v]sp]qO¾OW.

29. fLRu j¤W]p]q]¨OÐ kŸ]Wp]¤

j]ÐOU \fO¡ÀW v]\sjvOU

(W~L¡ap]¤ c}v]Spx¢) \fO¡ÀW

v]\sj YOeLËvOU (SWLIl]x£V

KLlV W~L¡Ÿp]¤ c}v]Spx¢)

WRº¾OW.

X F

0 – 10 4

10 – 20 6

20 – 30 9

30 – 40 13

40 – 50 10

50 – 60 5

60 – 70 3

a) List out and analyze the

reform measures adopted in

agriculture, industry and

financial sectors.

b) Critically evaluate the

impact of these economic

reforms in the measures of

agriculture, industrial and

financial sectors.

29. Calculate the quartile deviation

and coefficient of quartile

deviation for the following

distribution.

X F

0 – 10 4

10 – 20 6

20 – 30 9

30 – 40 13

40 – 50 10

50 – 60 5

60 – 70 3
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